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· 6൴JDUD� W൴U\DN൴O൴÷൴�� HQ� |OG�U�F�� WRSOXPVDO�
]HK൴UOHQPH�ROD\ÕGÕU��gO�P��V൴JDUD�\�]�QGHQ�
ROXúDQ� KDVWDOÕNODU� VRQXFX� PH\GDQD� JHO൴U��
+HU�V൴JDUDGD�Y�FXW� ൴o൴Q�]HK൴UO൴�� WDKU൴ú�HG൴F൴��
NDQVHU�\DSÕFÕ�\D�GD�NDQVHU൴Q�RUWD\D�oÕNPDVÕ�
QÕ� NROD\ODúWÕUÕFÕ� ����¶GHQ� ID]OD� N൴P\DVDO�
PDGGH� EXOXQPDNWDGÕU�� %XQODUGDQ� HQ� D]� ���
WDQHV൴Q൴Q� GR÷UXGDQ� NDQVHUH� QHGHQ� ROGX÷X�
൴VSDWODQPÕúWÕU�� .൴ú൴\൴� V൴JDUD\D� ED÷ÕPOÕ� KDOH�
JHW൴UHQ�PDGGH�൴VH�Q൴NRW൴QG൴U��1൴NRW൴Q�D\UÕFD�
NDOS�DWÕúODUÕQÕ�KÕ]ODQGÕUÕU�� WDQV൴\RQX�\�NVHO�
W൴U��NDQÕQ�SÕKWÕODúPD�U൴VN൴Q൴�DUWÕUÕU�� 

6൴JDUD�1H�.D�
GDU�gO�PF�O�
G�U" 
6൴JDUD�GXPDQÕQ�
GDN൴�NDUERQ�PR�
QRNV൴W�JD]Õ��ND�
QÕQ�RNV൴MHQ�WDúÕ�
PD�NDSDV൴WHV൴Q൴�
D]DOWÕU��GRNXODUD�
\HWHU൴QFH�RNV൴MHQ�
WDúÕQPDVÕQD�HQ�

JHO�ROXU��%XQXQ�VRQXFXQGD�V൴JDUD�൴oHQOHU�
HJ]HUV൴]�VÕUDVÕQGD�GDKD�oDEXN�\RUXOXUODU��
'�Q\D�6D÷OÕN�gUJ�W���:+2��YHU൴OHU൴QH�
J|UH�������\ÕOÕQGD�V൴JDUD�QHGHQ൴\OH�ROX�
úDQ�KDVWDOÕNODUGDQ�GROD\Õ����P൴O\RQ�N൴ú൴�
Q൴Q�|OPHV൴�|QJ|U�OPHNWHG൴U�� 

 

'2ö58�%ø/ø1(1�<$1/,ù/$5� 

6൴JDUDQÕQ� ൴QVDQ� KD\DWÕQD� NDWDFD÷Õ� úH\� VDGHFH� \HQ൴� VR�
UXQODU�YH�KDVWDOÕN�U൴VNOHU൴G൴U��.HQG൴Q൴]�YH�oHYUHQ൴]GHN൴�
OHU൴Q� VD÷OÕ÷Õ� ൴o൴Q� V൴JDUDGDQ� X]DN� GXUPDQÕ]� JHUHNW൴÷൴Q൴�
XQXWPD\ÕQ�� 

6ø*$5$�=$<,)/$7,5� 

6ø*$5$�62581/$5,�818778585� 

6ø*$5$�ød0(.�ø16$1,�6$.ø1/(ù7ø5ø5� 

 

6൴JDUDGDQ�DOÕQDQ�WHN�E൴U�QHIHV�E൴OH�NDOS�NU൴]൴QH�QH�
GHQ�RODE൴O൴\RU�� 

9�FXGXPX]D� W�W�Q� J൴UG൴÷൴� DQGDQ� ൴W൴EDUHQ�� ����� IDUNOÕ�
N൴P\DVDO� RUJDQODUÕPÕ]D� VDOGÕUDUDN� W�P� Y�FXGXPX]X�
]HK൴UO൴\RU�� 

 

EĞĚĞŶ�^ŝŐĂƌĂǇŦ��ŦƌĂŬŵĂŬƚĂ��ŽƌůĂŶŦͲ
ƌŦǌ͍ 

^ŝŐĂƌĂĚĂŬŝ�ŶŝŬŽƟŶ�Őƺĕůƺ�ďŝƌ�ďĂŒŦŵůŦͲ
ůŦŬ�ǇĂƉŦĐŦ�ŵĂĚĚĞĚŝƌ͘�<ŽŬĂŝŶ͕�ĞƌŽŝŶ�ǀĞ�
ĂůŬŽů�ŝůĞ�ŬĂƌƔŦůĂƔƨƌŦůĚŦŒŦŶĚĂ͕�ƚĞƐĂĚƺͲ
ĨĞŶ�ĚĞŶĞŵŝƔ�ŬŝƔŝůĞƌĚĞ�ďŝůĞ�ƐŝŐĂƌĂŶŦŶ�
ďĂŒŦŵůŦůŦŬ�ǇĂƉŵĂ�ŽůĂƐŦůŦŒŦ�ĚĂŚĂ�ĨĂǌůĂͲ
ĚŦƌ͘�EŝŬŽƟŶ͕�ƐŝŐĂƌĂ�ŝĕĞƌŬĞŶ�ŚĞƌ�ƐŽůƵŬͲ
ƚĂŶ�ƐŽŶƌĂ�ϳ�ƐĂŶŝǇĞĚĞ�ďĞǇŝŶĞ�ƵůĂƔŦƌ͕�
ŬĞŶĚŝŶŝǌŝ�ŝǇŝ�ŚŝƐƐĞƚŵĞŶŝǌŝ�ƐĂŒůĂƌ�ǀĞ�
ĚĂŚĂ�ĕŽŬ�ŶŝŬŽƟŶ�ŝƐƚĞŵĞŶŝǌĞ�ŶĞĚĞŶ�
ŽůƵƌ͘�^ŝŐĂƌĂ�ŝĕĞŶůĞƌĚĞ�Ğů�ǀĞ�ĂŒŦǌ�ĂůŦƔͲ
ŬĂŶůŦŒŦ�ǀĂƌĚŦƌ͘�'ƺŶĚĞ�ŝĕŝůĞŶ�ƐŝŐĂƌĂ�
ƐĂǇŦƐŦ�ŶĞ�ŬĂĚĂƌ�ĨĂǌůĂǇƐĂ͕�ďƵ�ĂůŦƔŬĂŶůŦŬ�



6൴JDUDQÕQ�൴o൴QGH�EDúWD�Q൴NRW൴Q�ROPDN��]HUH�
E൴UoRN�]HK൴UO൴�YH�]DUDUOÕ�PDGGH�YDUGÕU�� 

6൴JDUDQÕQ�HW�
N൴OHU൴�൴o൴OHQ�
W�W�Q�Q�W�U��
QH��P൴NWDUÕQD��
NXOODQPD�V��
UHV൴QH��QH�ND�
GDU�GHU൴Q�൴oH�

oHN൴OG൴÷൴�
QH��N൴ú൴Q൴Q�
JHQHO�VD÷OÕ�
÷ÕQD�YH�

D൴OHV൴QGHN൴�KDVWDOÕNODUD�ED÷OÕ�RODUDN�GH�
÷൴úPHNWHG൴U�� 

6ø*$5$�.8//$1,0,1,1�.,6$�
'g1(0�(7.ø/(5ø���.DOS�DWÕúÕQÕQ�
KÕ]ODQPDVÕ��NDQ�EDVÕQFÕQÕQ�DUWPDVÕ���
0൴GHQ൴Q�DV൴W��UHWPHV൴���%|EUHNOHU൴Q�D]�
൴GUDU��UHWPHV൴���%H\൴Q�YH�V൴Q൴U�V൴VWHP൴�
൴úOH\൴ú�KÕ]ÕQGD�VRUXQODU���øúWDKVÕ]OÕN���
7DW�YH�NRNX�GX\XODUÕQÕQ�]D\ÕIODPDVÕ���
$NF൴÷HUOHU൴Q�QRUPDO�oDOÕúPDPDVÕ���(O�
YH�D\DN�SDUPDNODUÕQD�NDQ�DNÕúÕQÕQ�]D�
\ÕIODPDVÕ�6ø*$5$�.8//$1,0,1,1�
%$=,�6218d/$5,�6൴JDUD�൴oHQOHUGH�
൴oPH\HQOHUH�RUDQOD����0HVDQH��SDQNUHDV�
YH�SURVWDW�NDQVHU൴�U൴VN൴���NDW����.DGÕQ�
ODUGD�NÕVÕUOÕN�U൴VN൴����NDW����(UNHNOHUGH�
൴NW൴GDUVÕ]OÕN�U൴VN൴����NDW����$NF൴÷HU�NDQ�
VHU൴�U൴VN൴����NDW�GDKD�ID]ODGÕU�� 

1(5(/(5'(1�<$5',0�$/$%ø/ø5�
6ø1ø="� 

6൴JDUD\Õ�NHQG൴�NHQG൴Q൴]H�EÕUDNDE൴OHFH÷൴Q൴]�
J൴E൴��൴KW൴\Do�GX\PDQÕ]�KDO൴QGH�EX�NRQXGD�
X]PDQ�N൴ú൴OHUGHQ�GH�\DUGÕP�DODE൴O൴UV൴Q൴]��
%XQXQ�൴o൴Q��$/2�����6D÷OÕN�%DNDQOÕ÷Õ�6൴�
JDUD�%ÕUDNPD�'DQÕúPD�+DWWÕ¶�QÕ�DUD\DUDN�
൴KW൴\DFÕQÕ]�RODQ�GHVWH÷൴�DODE൴O൴UV൴Q൴]��6൴JDUD�
\Õ�EÕUDNÕUNHQ�EX�NRQXGD�X]PDQODúPÕú�E൴U�
KHN൴PGHQ�GHVWHN�DOPDN�൴VWHUVHQ൴]������¶\൴�
DUD\DUDN�0HUNH]൴�+HN൴P�5DQGHYX�6൴VWHP൴¶�
QGHQ�V൴]H�HQ�\DNÕQ�V൴JDUD�EÕUDNPD�SRO൴NO൴Q൴�
÷൴�൴o൴Q�UDQGHYX�DODE൴O൴U�\D�GD�GR÷UXGDQ�EX�
SRO൴NO൴Q൴NOHUH�EDúYXUDE൴O൴UV൴Q൴]�� 
 
%$ö,0/,/$5�1(/(5�<$ù$5"� 
6ø*$5$<$�%$ù/$0$.�.2/$<',5�
)$.$7�%,5$.0$.�=25'85�dh1.h��
��1൴NRW൴Q�ED÷ÕPOÕOÕN�\DSDU����%D]Õ�NXOODQÕFÕ�
ODU�ROXPVX]OXNODUOD�EDú�HWPH�\|QWHPOHU൴�
JHO൴úW൴UHPHP൴úW൴U����%D]Õ�NXOODQÕFÕODU�U൴VNOHU൴�
WDP�RODUDN�DOJÕOD\DPDPDNWDGÕU����%DúDUÕVÕ]�
V൴JDUD�EÕUDNPD�J൴U൴ú൴POHU൴��EÕUDNPD\Õ�WHNUDU�
GHQHPH�FHVDUHW൴Q൴�D]DOWÕU�� 

6൴JDUD�൴oPHN�YH�൴o൴OHQ�RUWDPGD�EX�
OXQPDN�VD\ÕVÕ]�KDVWDOÕ÷D�VHEHS�ROXU��

F൴OG൴�ER]DU��VHV�
WHOOHU൴QH�]DUDU�
YHU൴U�� 

Hayır .Kullanmıyorum  

Sigara içen insanlarda 2 kat 
daha fazla kanser riski vardır 

6ø*$5$1,1�
=$5$5/$5,�
1(/(5'ø5"� 

WĂƐŝĨ�7ĕŝĐŝůŝŒŝŶ��ĂƌĂƌůĂƌŦ�EĞůĞƌĚŝƌ͍ 

^ŝŐĂƌĂ�ŝĕĞŶůĞƌĚĞ�ĂŬĐŝŒĞƌ�ŬĂŶƐĞƌŝ�ƌŝƐŬŝ͕�ŝĕŵĞͲ
ǇĞŶůĞƌĚĞŬŝŶĚĞŶ�ϮϬ�ŬĂƚ�ĨĂǌůĂĚŦƌ͘�^ŝŐĂƌĂ�ŝĕŵĞͲ
ĚŝŒŝ�ŚĂůĚĞ�ĚƵŵĂŶŦŶĂ�ŵĂƌƵǌ�ŬĂůĂŶůĂƌĚĂ�ďŝůĞ�
ĂŬĐŝŒĞƌ�ŬĂŶƐĞƌŝ�ƌŝƐŬŝ�ŝĕŵĞǇĞŶůĞƌĚĞŬŝŶĚĞŶ�ϯ�
ŬĂƚ�ĨĂǌůĂĚŦƌ͘�^ŝŐĂƌĂ�ŝĕĞŶůĞƌĚĞ�ĂŬĐŝŒĞƌ�ŬĂŶƐĞƌŝ�
ĚŦƔŦŶĚĂ�ĂŒŦǌ͕�Ěŝů͕�ĚƵĚĂŬ͕�ŐŦƌƚůĂŬ͕�ǇĞŵĞŬ�ďŽƌƵͲ
ƐƵ͕�ƉĂŶŬƌĞĂƐ͕�ŵĞƐĂŶĞ͕�ďƂďƌĞŬ͕�ƉƌŽƐƚĂƚ͕�ƌĂͲ
Śŝŵ�ĂŒǌŦ�ŬĂŶƐĞƌŝ�ƌŝƐŬŝ�ĚĞ�ĂƌƚŵĂŬƚĂĚŦƌ͘�,ŝĕ�
ŝĕŵĞĚŝŒŝ�ŚĂůĚĞ�ĚƵŵĂŶĂ�ŵĂƌƵǌ�ŬĂůĂŶ�ŬĂĚŦŶͲ
ůĂƌĚĂ�ŵĞŵĞ�ŬĂŶƐĞƌŝ�ƌŝƐŬŝ�ĂƌƚŵĂŬƚĂĚŦƌ͘�^ŝŐĂͲ
ƌĂ͕�ŬƌŽŶŝŬ�ďƌŽŶƔŝƚ͕�ĂŵĮǌĞŵ�Őŝďŝ�ŶĞĨĞƐ�ĚĂƌůŦŒŦ�
ǇĂƉĂŶ�ƐŽůƵŶƵŵ�ƐŝƐƚĞŵŝ�ŚĂƐƚĂůŦŬůĂƌŦŶŦŶ�ĞŶ�
ƂŶĞŵůŝ�ŶĞĚĞŶŝĚŝƌ͘��Ƶ�ŚĂƐƚĂůŦŬůĂƌ�ŶĞĚĞŶŝǇůĞ�
Ƃůƺŵ�ƌŝƐŬŝ͕�Śŝĕ�ŝĕŵĞǇĞŶůĞƌĚĞŶ�ϰϬ�ŬĂƚ�ĨĂǌůĂͲ
ĚŦƌ͘�^ŝŐĂƌĂ�ŝĕĞŶůĞƌĚĞ�ŬĂůƉ�Ŭƌŝǌŝ�ŐĞĕŝƌŵĞ�ƌŝƐŬŝ�
ϯ�ŬĂƚ�ĂƌƚŵĂŬƚĂĚŦƌ͘�^ŝŐĂƌĂ͕�ŬĂŶ�ĚŽůĂƔŦŵŦ�ǀĞ�
ĚĂŵĂƌůĂƌ�ƺǌĞƌŝŶĞ�ĞƚŬŝůĞƌŝ�ŶĞĚĞŶŝǇůĞ�ďĞǇŝŶ�
ĚĂŵĂƌ�ŚĂƐƚĂůŦŬůĂƌŦ�ǀĞ�ĨĞůĕ�ƌŝƐŬŝŶŝ�ĂƌƨƌŵĂŬƚĂ͕�
ďĂĐĂŬ�ŬĂŶŐƌĞŶůĞƌŝŶĞ�ŶĞĚĞŶ�ŽůŵĂŬƚĂĚŦƌ͘ 


